Name:_________________
Date:__________________
Period:__________
Britain Industrializes: Guided Notes


· The ___________________ refers to the greatly increased output of machine-made goods that began in England in the middle 1700’s. 

· [bookmark: _GoBack]The Industrial Revolution spread from _________________ to ___________________ and ___________________. 

· The two most important results of the enclosure movement were

1. ______________________________
2. ______________________________

· ___________________ allowed farmers to sow seeds in well-spaced rows at specific depths. 
· England’s population boomed due to ________________ and improved ______________. 
· England’s extensive natural resources included
1. _________________________
2. _________________________
3. _________________________
4. _________________________

· __________________ revolutionized industry. 
· The textile industry provided the world with ____________, ____________, and _____________. 
· The ________________ began the search for a cheap and convenient power source. 
· ____________ stopped travelers and required a them to pay a toll which then fueled the private investors. 
· City dwellers were lured from the countryside into the city by the invention of the _____________ by Scottish engineer _____________. 
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